

MULTIPLE SCATTERING IN AN INFINITE MEDIUM ①

STUDY OF THE MULTIPLE ELASTIC SCATTERING PROBLEM BASED ON THE DIFFUSION EQUATION. THE SMALL ANGLE APPROXIMATION IS NOT NEEDED IN THIS APPROACH.

$$\frac{\partial f}{\partial s} + \bar{u} \cdot \bar{\nabla} f = N \int [f(\bar{x}, \bar{u}', s) - f(\bar{x}, \bar{u}, s)] \sigma(\bar{u}, \bar{u}') d\bar{u}' \quad (1)$$

f IS THE PROBABILITY OF FINDING THE PARTICLE MOVING ALONG THE DIRECTION \bar{u}' AFTER HAVING TRAVEL A PATHLENGTH s , IF THE PARTICLE WAS INITIALLY AT \bar{x} MOVING ALONG \bar{u} . N IS THE DENSITY OF SCATTERERS.

$\sigma(\bar{u}, \bar{u}')$ IS THE ELASTIC SCATTERING CROSS SECTION DIFFERENTIAL IN THE SCATTERING ANGLE (\bar{u}, \bar{u}') . NOTICE THAT WE ARE USING A DIFFERENT NOTATION FOR THE SCATTERING ANGLE.

BOUNDARY CONDITIONS: $f(\bar{x}, \bar{u}, 0) = \delta(\bar{x}) \delta(\bar{u} - \hat{k})$, WHICH CORRESPONDS TO A PARTICLE MOVING FROM THE ORIGIN AND ALONG THE Z AXIS.

LET'S EXPAND THE SOLUTION IN SPHERICAL HARMONICS,

$$f = \sum_{\ell m} f_{\ell m}(\bar{x}, s) Y_{\ell m}(\bar{u}).$$

SUBSTITUTE IT IN THE DIFFUSION EQUATION (1) AND APPLY ORTHONORMALIZATION

$$\sum_{\ell m} \frac{\partial f_{\ell m}}{\partial s} \int Y_{\ell m}(\bar{u}) Y_{\ell m}^*(\bar{u}) d\bar{u} + \sum_{\ell m} \bar{\nabla} f_{\ell m} \cdot \int Y_{\ell m}(\bar{u}) \bar{u} Y_{\ell m}^*(\bar{u}) d\bar{u} = N \left[\sum_{\ell m} f_{\ell m} \iint Y_{\ell m}(\bar{u}') \sigma(\bar{u}, \bar{u}') Y_{\ell m}^*(\bar{u}) d\bar{u} d\bar{u}' + \sum_{\ell m} f_{\ell m} \iint Y_{\ell m}(\bar{u}) \sigma(\bar{u}, \bar{u}') Y_{\ell m}^*(\bar{u}') d\bar{u} d\bar{u}' \right]$$

The left-hand side of this equation yields

$$\frac{\partial f_{lm}}{\partial s} + \sum_{lm} \bar{\nabla} f_{lm} \cdot Q_{lm}^{lm}$$

Interchanging indexes:

$$\frac{\partial f_{lm}}{\partial s} + \sum_{\lambda\mu} \bar{\nabla} f_{\lambda\mu} \cdot Q_{\lambda\mu}^{\lambda\mu}$$

WHERE $Q_{\lambda\mu}^{\lambda\mu} = \int Y_{\lambda\mu}^* \bar{u} Y_{\lambda\mu} d\bar{u}$

For solving the righthand side of the equation, let's expand the cross section in Legendre polynomials

$$\sigma(\cos\psi) = \sum a_k P_k(\cos\psi); \text{ where } \cos\psi = \bar{u} \cdot \bar{u}'$$

Let's solve the first term of the RHS of the diffusion equation:

$$N \sum_{lm} f_{lm} \int d\bar{u} \int d\bar{u}' Y_{lm}(\bar{u}') Y_{lm}^*(\bar{u}) \sum_k a_k P_k(\cos\psi)$$

Now, we have to use the spherical harmonics addition theorem to substitute the Legendre polynomials

$$= N \sum_{lm} f_{lm} \int d\bar{u} \int d\bar{u}' Y_{lm}(\bar{u}') Y_{lm}^*(\bar{u}) \sum_k a_k \left(\frac{4\pi}{2k+1} \right) \sum_{n=-k}^k Y_{kn}(\bar{u}) Y_{kn}^*(\bar{u}')$$

$$= N \sum_{lm} f_{lm} \sum_k \frac{4\pi a_k}{(2k+1)} \sum_{n=-k}^k \left[\int Y_{lm}(\bar{u}') Y_{kn}^*(\bar{u}') d\bar{u}' \right] \underbrace{\int Y_{lm}^*(\bar{u}) Y_{kn}(\bar{u}) d\bar{u}}_{\delta_{lk} \delta_{mn}}$$

$$= N \sum_{lm} f_{lm} \frac{4\pi a_l}{(2l+1)} \underbrace{\int Y_{lm}(\bar{u}') Y_{lm}^*(\bar{u}') d\bar{u}'}_{\delta_{ll} \delta_{mm}}$$

$$= N f_{lm} \frac{4\pi a_l}{2l+1} = N f_{lm} \left(\frac{4\pi}{2l+1} \right) \left(\frac{2l+1}{2} \right) \int P_l(\cos\psi) \sin\psi d\psi = 2\pi N f_{lm} \int P_l(\cos\psi) \sin\psi d\psi$$

For the second term of the RHS of equation, we get (3)

$$N \sum_{\ell m} f_{\ell m} \int d\bar{u}' \int d\bar{u} \underbrace{Y_{\ell m}(\bar{u}) Y_{\ell m}^*(\bar{u})}_{\delta_{\ell\ell} \delta_{mm}} \sigma(\bar{u} \cdot \bar{u}')$$

Notice that σ depends on the scattering angle $(\bar{u} \cdot \bar{u}')$, not on the incidence direction (\bar{u}) . In addition, we may consider the particle moving along the z axis so $d\bar{u}' \rightarrow d\cos\psi d\phi$

$$= N f_{\ell m} \cdot 2\pi \int \sigma(\cos\psi) \sin\psi d\psi, \text{ considering cylindrical symmetry}$$

$$= 2\pi N f_{\ell m} \int \sigma(\cos\psi) d\cos\psi$$

Finally, changing the indices back to ℓm , we obtain:

$$\frac{\partial f_{\ell m}}{\partial s} + \sum_{\lambda \mu} \bar{\nabla} f_{\lambda \mu} \cdot Q_{\ell m}^{\lambda \mu} = f_{\ell m} \underbrace{2\pi N \int \sigma(\cos\psi) [P_{\ell}(\cos\psi) - 1] \sin\psi d\psi}_{-K_{\ell}}$$

$$(2) \quad \boxed{\frac{\partial f_{\ell m}}{\partial s} + K_{\ell} f_{\ell m} = - \sum_{\lambda \mu} \bar{\nabla} f_{\lambda \mu} \cdot Q_{\ell m}^{\lambda \mu}}$$

$$\boxed{Q_{\ell m}^{\lambda \mu} = \int Y_{\ell m}^*(\bar{u}) \bar{u} Y_{\lambda \mu}(\bar{u}) d\bar{u}}$$

$$K_{\ell} = 2\pi N \int \sigma(\psi) [1 - P_{\ell}(\cos\psi)] \sin\psi d\psi$$

The latter is the formal solution for the transport equation.

Notice that the solution is determined by the elastic scattering cross section.

$$f_{\ell m} = \frac{Q_{\ell m}^{\lambda \mu}}{K_{\ell} - 1}$$

BOUNDARY CONDITIONS

As said before, the particle is initially moving away the point at $\bar{x}=0$ AND ALONG the z AXIS.

$$f(\bar{x}, \bar{u}, 0) = \delta(\bar{x}) \delta(\bar{u} - \hat{r})$$

$$\sum_{lm} f_{lm}(\bar{x}, 0) Y_{lm}(\bar{u}) = \delta(\bar{x}) \delta(\bar{u} - \hat{r})$$

$$\sum_{lm} f_{lm}(\bar{x}, 0) \int_{4\pi} Y_{lm}(\bar{u}) Y_{lm}^*(\bar{u}) d\bar{u} = \delta(\bar{x}) \int_{4\pi} \delta(\bar{u} - \hat{r}) Y_{lm}(\bar{u}) d\bar{u}$$

$$f_{lm}(\bar{x}, 0) = \delta(\bar{x}) Y_{lm}(\hat{r}) \quad ; \quad Y_{lm}(\psi) = \frac{Y_l(0)}{Y_m}$$

Accounting for the cylindrical symmetry AND CHANGING INDEXES

$$f_l(\bar{x}, 0) = \delta(\bar{x}) Y_{l0}(0)$$

(3)
$$f_l(\bar{x}, 0) = \left(\frac{2l+1}{4\pi}\right)^{1/2} \delta(\bar{x})$$

THE ANGULAR DISTRIBUTION.

(5)

Let's obtain the angular distribution $\bar{F}(\bar{u}, s)$, which quantifies the probability of finding the particle scattering an angle \bar{u} after having traveled a pathlength s .

Let's integrate eq. 2 over the whole space

$$\int \frac{\partial f_{\ell m}}{\partial s} d\bar{x} + \int k_{\ell} f_{\ell m} d\bar{x} = - \int \sum_{\lambda m} \bar{\nabla} f_{\lambda m} \cdot Q_{\ell m}^{\lambda m} d\bar{x}$$

$$\frac{\partial}{\partial s} \int f_{\ell m} d\bar{x} + k_{\ell} \int f_{\ell m} d\bar{x} = - \sum_{\lambda m} \bar{\nabla} \left[\int f_{\lambda m} d\bar{x} \right] \cdot Q_{\ell m}^{\lambda m}$$

$Q_{\ell m}^{\lambda m}$ depends only on angles and the gradient of a constant is zero, so that

(4) $\frac{\partial F_{\ell}}{\partial s} + k_{\ell} F_{\ell} = 0$; where $F_{\ell} \equiv \int f_{\ell m}(\bar{x}, s) d\bar{x}$ and the index m has been dropped due to the cylindrical symmetry. Integrating eq. (4), we obtain:

$$\frac{\partial F_{\ell}}{F_{\ell}} = -k_{\ell} ds \rightarrow F_{\ell}(s) = F_{\ell}(0) e^{-\int_0^s k_{\ell} ds}$$
$$F_{\ell}(0) = \int f_{\ell}(\bar{x}, 0) d\bar{x}, \text{ (see eq. 3)}$$
$$= \int \delta(\bar{x}) \left(\frac{2\ell+1}{4\pi} \right)^{1/2} d\bar{x}$$

(5)

$$F_{\ell}(s) = \left(\frac{2\ell+1}{4\pi} \right)^{1/2} e^{-\int_0^s k_{\ell} ds}$$

$$F_{\ell}(0) = \left(\frac{2\ell+1}{4\pi} \right)^{1/2}$$

Then, the angular distribution can be obtained (6)
 integrating the solution of the transport equation (1)
 over all space:

$$F(\bar{u}, s) = \int f(\bar{x}, \bar{u}, s) d\bar{x}$$

$$= \int \sum_{lm} f_{lm}(\bar{x}, s) Y_{lm}(\bar{u}) d\bar{x}$$

Having into account the cylindrical symmetry

$$F(\bar{u}, s) = \sum_l Y_{l0}(\bar{u}) \underbrace{\int f_{l0}(\bar{x}, s) d\bar{x}}_{F_l(s)}$$

$$F(\bar{u}, s) = \sum_l \left(\frac{2l+1}{4\pi}\right)^{1/2} P_l(\cos\psi) \left(\frac{2l+1}{4\pi}\right)^{1/2} e^{-\int_0^s k_l ds}$$

$F(\bar{u}, s) = \sum_l \underbrace{\left(\frac{2l+1}{4\pi}\right)^{1/2} P_l(\cos\psi)}_{Y_{l0}(\bar{u})} \underbrace{\left(\frac{2l+1}{4\pi}\right)^{1/2} e^{-\int_0^s k_l ds}}_{F_l(s)}$	Angular distribution
$F(\bar{u}, s) = \sum_l \left(\frac{2l+1}{4\pi}\right) P_l(\cos\psi) e^{-\int_0^s k_l ds}$	

k_l depends on s through the energy dependence of the elastic scattering cross section ($\Sigma(\cos\psi)$).

Let's determine the mean scattering angle.

$$\langle \cos\psi \rangle = \int F(\bar{u}, s) \cos\psi \sin\psi d\psi d\varphi = \int F(\bar{u}, s) P_1(\cos\psi) \sin\psi d\psi$$

$$= 2\pi \sum_l \left(\frac{2l+1}{4\pi}\right) e^{-\int_0^s k_l ds} \int P_l(\cos\psi) P_1(\cos\psi) \sin\psi d\psi$$

$\langle \cos\psi \rangle = e^{-\int_0^s k_1 ds}$	$\frac{2}{2l+1} \delta_{l1}$
---	------------------------------

AND it is EASY to PROVE THAT

$$\langle P_l(\cos \psi) \rangle = e^{-\int K_l ds}$$

Spatial distributions

THE AVERAGE WAVELENGTH DISPLACEMENT IS ANOTHER QUANTITY OF INTEREST IN MONTE CARLO SIMULATIONS. LET'S DETERMINE IT WITHIN THIS FORMALISM.

DEFINING $g_l(z, s) \equiv \iint f_{em}(\bar{x}, s) dx dy$, WE OBTAIN

$$\frac{\partial}{\partial s} \underbrace{\int f_{em} dx dy}_{g_{em}} + K_l \underbrace{\int f_{em} dx dy}_{g_{em}} = - \sum_{\lambda \mu} \frac{\partial g_{\lambda \mu}}{\partial s} (Q_{em}^{\lambda \mu})_z$$

WITH BOUNDARY CONDITIONS

$$g_{em}(z, 0) = \iint f_{em}(\bar{x}, 0) dx dy = \left(\frac{2l+1}{4\pi} \right)^{1/2} \delta(z); \text{ SEE EQ 3.}$$

WHICH MEANS THAT THERE IS NO DEPENDENCE ON φ SO THAT

$$g_{em}(z, 0) = g_{e0}(z, 0) = g_l(z, 0)$$

ACCORDING TO BETHE, HANDBUCH DER PHYSIK (1933), Vol 24/1 p.551,

$$(Q_{e0}^{\lambda 0})_z = \frac{l \delta_{l-1, \lambda}}{(4l^2 - 1)^{1/2}} + \frac{(l+1) \delta_{l+1, \lambda}}{[4(l+1)^2 - 1]^{1/2}}$$

$$(Q_{e0}^{\lambda 0})_z = \alpha_l \delta_{l-1, \lambda} + \alpha_{l+1} \delta_{l+1, \lambda}$$

$$\frac{\partial g_l}{\partial s} + K_l g_l = - \sum_{\lambda \mu} \frac{\partial g_{\lambda \mu}}{\partial s} [\alpha_l \delta_{l-1, \lambda} + \alpha_{l+1} \delta_{l+1, \lambda}]$$

$$(6) \quad \left[\frac{\partial g_l}{\partial s} + K_l g_l = - \frac{\partial}{\partial z} [\alpha_l g_{l-1} + \alpha_{l+1} g_{l+1}] = 0 \right]$$

Let's define $H_{\ell n}$

$$H_{\ell n} \equiv \int_{-\infty}^{\infty} g_{\ell}(z, s) z^n dz$$

AND MULTIPLY EQ. (6) BY z^n AND INTEGRATE BY PARTS

$$\int \frac{\partial g_{\ell}}{\partial s} z^n dz + k_{\ell} \int g_{\ell} z^n dz + \int \frac{\partial}{\partial z} [\alpha_{\ell} g_{\ell-1} + \alpha_{\ell+1} g_{\ell+1}] z^n dz = 0$$

$$\left(\frac{\partial}{\partial s} + k_{\ell}\right) H_{\ell n} + \underbrace{(\alpha_{\ell} g_{\ell-1} + \alpha_{\ell+1} g_{\ell+1}) z^n}_{\substack{\text{it should converge to 0} \\ \text{in } \infty.}} \Big|_{-\infty}^{\infty} - n \int (\alpha_{\ell} g_{\ell-1} + \alpha_{\ell+1} g_{\ell+1}) z^{n-1} dz = 0$$

$$(7) \quad \left(\frac{\partial}{\partial s} + k_{\ell}\right) H_{\ell n} - n [\alpha_{\ell} H_{\ell-1, n-1} + \alpha_{\ell+1} H_{\ell+1, n-1}] = 0$$

EQ. 7 CAN BE SOLVED IN ASCENDING ORDER OF n .
Let's solve it firstly for $n=0$

$$\left(\frac{\partial}{\partial s} + k_{\ell}\right) H_{\ell 0} = 0$$

$$H_{\ell 0} = H_{\ell 0}(0) e^{-\int_0^s k_{\ell} ds} \equiv H_{\ell 0}(0) k_{\ell}$$

$$H_{\ell 0}(0) = \int g_{\ell}(z, 0) dz = F_{\ell}(0) = \left(\frac{2\ell+1}{4\pi}\right)^{1/2} \quad (\text{SEE EQ. 5})$$

$$(8) \quad \therefore \boxed{H_{\ell 0}(s) = \left(\frac{2\ell+1}{4\pi}\right)^{1/2} k_{\ell}}$$

Then for $n=1$

$$(9) \quad \left(\frac{\partial}{\partial s} + k_{\ell}\right) H_{\ell 1} - [\alpha_{\ell} H_{\ell-1, 0} + \alpha_{\ell+1} H_{\ell+1, 0}] = 0$$

General solution to eq. 9.

$$y' + p(x)y = Q(x)$$

$$y(x) = e^{-\int p(x)dx} \cdot \int Q(x) e^{\int p(x)dx} dx + C$$

In this case $p(s) = Kl$ and $Q(s) = \alpha_l H_{l-1,0} + \alpha_{l+1} H_{l+1,0}$.
Then, according to eq. 8; up to a constant

$$H_{l1} = e^{-\int Kl ds} \int \left[\alpha_l \left(\frac{2(l-1)+1}{4\pi} \right)^{1/2} R_{l-1} + \alpha_{l+1} \left(\frac{2(l+1)+1}{4\pi} \right)^{1/2} R_{l+1} \right] \frac{1}{R_l(s)} ds$$

$$H_{l1} = R_l(s) \int_0^s \left[\underbrace{\frac{l}{(4l^2-1)^{1/2}} \left(\frac{2l-1}{4\pi} \right)^{1/2}}_{a_l} R_{l-1} + \underbrace{\frac{(l+1)}{[4(l+1)^2-1]^{1/2}} \left(\frac{2l+3}{4\pi} \right)^{1/2}}_{b_l} R_{l+1} \right] \frac{ds'}{R_l(s')}$$

$$a_l = \frac{l}{(4\pi)^{1/2}} \left[\frac{2l-1}{(2l-1)(2l+1)} \right]^{1/2} = \frac{l}{\sqrt{4\pi(2l+1)}}$$

$$b_l = \frac{l+1}{(4\pi)^{1/2}} \left[\frac{2l+3}{4l^2+8l+4-1} \right]^{1/2} = \frac{l+1}{(4\pi)^{1/2}} \left[\frac{2l+3}{(2l+1)(2l+3)} \right]^{1/2} = \frac{l+1}{\sqrt{4\pi(2l+1)}}$$

$$\therefore (10) \quad H_{l1} = \frac{R_l(s)}{[4\pi(2l+1)]^{1/2}} \int_0^s \frac{[l R_{l-1} + (l+1) R_{l+1}]}{R_l} ds' + C$$

$H_{l1}(0) = C = 0$ because the initial position of the particle is $z=0$.

Please, notice that there is a typo in eq. 26 of Lewis' paper. In addition, eq. 10 agrees with that shown in our text book (see page 101 of Brassew's book).

$$(11) \quad H_{l1} = \frac{R_l(s)}{\sqrt{4\pi(2l+1)}} \int_0^s \frac{l R_{l-1} + (l+1) R_{l+1}}{R_l} ds'$$

Then, we can now determine $\langle Z \rangle$

(10)

$$\langle Z \rangle = \int f(\bar{x}, \bar{u}, s) Z \sin \psi d\psi d\varphi d\bar{x}$$

$$= \int Z \sum_{lm} f_{lm}(\bar{x}, s) Y_{lm}(\bar{u}) \sin \psi d\psi d\varphi dx dy dz$$

$m=0$ due to cylindrical symmetry.

$$= \sum_l \underbrace{(4\pi)^{1/2}}_{\delta_{l0}} Y_{l0}(\bar{u}) Y_{00}^*(\cos \psi) \sin \psi d\psi d\varphi \int Z g_l(z, s) dz$$

$$= (4\pi)^{1/2} \int Z g_0(z, s) ds \equiv (4\pi)^{1/2} H_{01}$$

$$\boxed{\langle Z \rangle = (4\pi)^{1/2} H_{01}}$$

Using solution in eq. 11

$$\langle Z \rangle = \frac{(4\pi)^{1/2} R_0(s)}{(4\pi)^{1/2}} \int_0^s \frac{R_1(s') ds'}{R_0(s)} ; R_0(s) = e^{-\int_0^s K_0(s') ds'} = 1.$$

$$\boxed{\langle Z \rangle = \int_0^s R_1(s') ds'}$$

WHICH AGREES WITH EQ. 27 OF LEWIS' PAPER.

We can also determine $\langle Z \cos \psi \rangle$

$$\langle Z \cos \psi \rangle = \int \sum_l f_{lm}(\bar{x}, s) Y_{lm}(\bar{u}) Z \cos \psi \sin \psi d\psi d\varphi dx dy dz$$

$$= \frac{(4\pi)^{1/2}}{3} \sum_l \int Y_{lm} Y_{10}^* \sin \psi d\psi d\varphi \int g_l(z, s) z dz$$

$$\boxed{\langle Z \cos \psi \rangle = \left(\frac{4\pi}{3}\right)^{1/2} H_{11}(s)} = \left(\frac{4\pi}{3}\right)^{1/2} \left(\frac{3}{4\pi}\right)^{1/2} R_1(s) \int_0^s \frac{(R_0 + 2R_2)}{R_1} ds'$$

$$\langle Z \cos \psi \rangle = R_1(s) \int_0^s \frac{1 + 2R_2(s')}{R_1(s')} ds' \rightarrow \text{EQ. 28 IN LEWIS' PAPER}$$